
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษสว่น ทศนยิม ลําดบัของการดําเนนิการ

+ 4 × 5.3 ÷ 2 − 4 × =
3
2

5
2

+ × 3 + =
5
2

2
1

4
3

− 4 × 4.3 ÷ 2 + 3 × 2.1 =
2
3

3.2 + × 2 + 8 × ÷ 2 =
3
1

5
2

− 20 × 4.2 ÷ 4 + 5 × 5.4 =
4
3

+ 15 × 3.8 ÷ 5 − 2 × =
5
2

5
2

3.6 + × 3 + 2 =
4
1

3.8 − 4.6 × 3 + =
4
3

+ 2.7 + 2 × 3.9 =
3
1

+ 5 × 4 + 25 × 5.2 ÷ 5 =
4
3
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษสว่น ทศนยิม ลําดบัของการดําเนนิการ

+ 4 × 5.3 ÷ 2 − 4 × = = 9
3
2

5
2

3
29

3
2

+ × 3 + = = 2
5
2

2
1

4
3

20
53

20
13

− 4 × 4.3 ÷ 2 + 3 × 2.1 = (− )
2
3

5
4

3.2 + × 2 + 8 × ÷ 2 = = 5
3
1

5
2

15
82

15
7

− 20 × 4.2 ÷ 4 + 5 × 5.4 = = 6
4
3

4
27

4
3

+ 15 × 3.8 ÷ 5 − 2 × = 11
5
2

5
2

3.6 + × 3 + 2 = = 6
4
1

20
127

20
7

3.8 − 4.6 × 3 + = (− ) = (−9 )
4
3

4
37

4
1

+ 2.7 + 2 × 3.9 = = 10
3
1

6
65

6
5

+ 5 × 4 + 25 × 5.2 ÷ 5 = = 46
4
3

4
187

4
3
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